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(a) Explain in brief qualified and unqualified audit

report. (5)

(b) Explain the rights of Company Auditor ? (5)

OR

Write short note on any two of the following : (5+5)

(i) Types of Errors 
( r

(ii) Verification ofland and building

(iii) Disqualification of the auditor

(o,) *rq *( w+Ic &sr cteil fr+d fr q*c { qrcqr dftq r

(r*) offi + &sr qtffi + irBrorir- fr qr<alr dfrq r (

STgtrIt

Fmftft{d } * fr-A i c( sftR tuqM ftfrqs:

(i) Effi 61ffi
(ii) .fF *{ $FFr sr {erFFr

(iii) &sr qtq<- ql Br+r.rdr
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(r{) qrdt*" +€rctwr Gfur: sfter4 I r
SECTION - A
(Income Tax)

AXempt all questions.
qS y-ra #Bgr

(i) Net annual value of one self-occupied houqe property
can be negative due to deduction of municipal taxes
paid by owner.

(ii) Employer's contribution to the recognised provident
fund is exempt to the extent of 9.50/o of salary.

(iii) Once a person is resident in previous yeaf he shall -

be deemed to be resident for subsequent previous years

also.

(iv) Rural agriculture land situated in India is not a capital
asset. (

(v) An assessee is always a person but a person may not
be an assessee. (5)

{e (T) qr rrmd (F) frle+-t ffiR+c sq+ + sr-t flfts:

(i) Ei + c+JT + ff.r{ 5a vwfr qr fi-+a qrfi[6 Ts uunffo
* w+-m * ffi ror+qrk+, Em fts 

"rs nBRrd 6t *
q-&&dqr&*r

) s02

Answer the following statements by writing TRUE (T) q
FALSE (F)

fi?r{ctE-dr rrff *ff r

(.r) +cT qtff+- d ETA +fr I fr.qa 6ffi * qfi[6 fiuriqr

+6-+'+qRrqttqmfrr

(v) aftc +c<r cAqT ft*€ ea ft+€ +ft t q] Arer ctu-ci *r
<Fr, tlm rr$ * <Iq rqr o'rfr t I

2. Differentiate between internal check and internal audit. Can

. an auditor rely fully upon the system of internal check
d prevailing in the organization ? (10)

OR

(a) "Vouching is the backbone of auditing "Explain this

statement. (5)
(

(b) "Verification is something more than valuation of assets

and liabilities". Discuss. (5)

irfuft*. dq ft irfufr+ &qr ctfi { a-fi {fis I wr +€ +{qr

't ster{'t'rrd{ + df, r& affim.Efu ywfr q{ ct F<a q+ff 6r
rrfi-f,r + ?

St TdI

( (q) e* cAHr q'f4aq I-6 qR qir frcr A g'€+1 Sifo{r *

i
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SECTION-B _ AUDITING
qr{r rg - +{dr "rtE{r

(Attempt a,ll questions.)

trrt ,ri, al a,tuv r)

State whether the following statements are true or fa( :

(1xs=5)

(a) An auditor's opinion as regard truth and fairness of
representation in the financial statements is a guarantee

that the enterprise being audited is run efficiently.

(b) Internal audit is legally compulsory.

(c) It is auditor's duty to attend and take part in discussidl
at Annual General Meeting of a company.

(d) An audit programme, once drawn needs no revision.

(ii) qq-m *r qRq ffe + RftT + +{<r< d, *e+ * s.sx
(6qrffi*I

(iii) cR qtu ffi s{ ffi + d s+ irg+ff ffi sm + fts
S ffi q1qr ql(r{[ I

(iv) qilo t ftrd rffilT Te Tft tffffi cRwfr Tff +& r

(v) turiRff qle vn qtu +dr t ct qk ftuifrd1 Tff rfr A
v+-er * r

Mrs. X (age: 45 years) received the following incomes from
PQR limited during the year ending March 31"r, 2016 :

(i) Salary @ Rs.30,000 per month Rs. 3,60,000
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(e) Unqualified audit report is a report which gives aud

opinion with certain reservations.

(ii) Leave travel concession for proceeding
on leave (actual expenditure on air
fare: Rs. 72,000)

(iii) Lunch Allowance @ Rs. 3,000 per

month (expenditure: Rs. 36,000)

(iv) Medical Allowance (expenditure:

Rs. 20,000)

(v) Uniform allowance for official use
(actual expenditure by X: Rs.4,000)

r
Rs. 75,000

Rs. 36,000

Rs. 24000

Rs. 18,000

ftqfrR+d q.q;r rrs t qr errs, vdrq dfr(:

(o.) ft-Oq *-q-i t t-s iqr Bft-d ffcqur + cR t +€r ctr+r
d nq fs Erd fr qKA * fr woq lfr *er qftsr 6 rr€

* otr Hd ?rrdr T{o- irm 16r + r
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(vi) Mrs. X also enjoyed the following benefits and

perquisites i I

(a) Free unfurnished flat in Mumbai for which
employer is paying a monthly rent of Rs. 30,000.

(b) Free use of Maruti Car 1200cc with Driver fo(
personal use and official use. Car cgh also be

used by family members of Mrs. X.'

(c) Free service of personal attendant (salary:

Rs. 12,000) and sweeper (salary: Rs. i8,000).

(d) Free use of employer's DVD player (Cost to
the employer: Rs. 32,000, year ofpurchase: 2003-

04)

Compute net income and tax liability of Mrs. X for
the assessment year 2O16-17, on the assumption that

her income from other sources is Rs.40,000. (15)

OR

(a) From the following informations given below, find out

his income chargeable to tax for the assessment year

2015- 16

(i) Royalty received by him outside

India from Government of India

11

(c.) * x * qrs ffi i i rr+qqm ror< l, ftt<q' + aA

sc+-q'"d i ?r ffi Fcs ,rs ffi t, r+rq qcfr i E)+

sr& qrc 4 rTqr d&qr

4

A{{oT qmr< I qar< II

( G.) (u.)

frrrqr ffiavT s0ftq{ + *rtro qr+q frlrqr 3,3o,ooo 3,30,000

rrrnqRq,t q.r ftuftur 3,oo,ooo 3popoo

!fr( fr{<t 3,6opoo 3,60,000

g{rdrr frg rg rtnqfror 6'{ 3o,ooo l0po0

!rar< frlt rTqT ArT ffffqq 2o,ooo

.q' ffi c-s'r{ 6r frclvr ffiqt, zorz i Br Eqr qTr x+ T6'r{

tr + fiffir * fts s"z nRq{ * E< i zs,oo,ooo Ecg sEm

ftqr qr (oem A+ * fd& r6.2on)r EsI + SrtrrilT ql

frE ao.o.zots r

(
' (re) ER nq + qft{G-d dtuqr

slgt-qT

(q') q'r fufR& + Ed €{rc q s(+ ercc <<w e-A ft Tffi

" * src qfrfud q.'G * vrqqtr Hr g?

(re) fr-r vRffi { ffi qk ERT vrkr rr{ * +c s{-+1 src

+ qFcfud d qr& il
P.T.O.
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(a) Mr. X has two identical houses in Delhi, both of which
are self-occupied. From the particulars given below,
calculate income from house property.

Particulars

5

(ii) Rental income of House property
situated in USA

(iii) Interest on German Development
bonds (1/4 received in India)

(iv) Dividend from a foreign company
i (received outside India)

(v) Technical fee from the Government
of India received outside India

Compute taxable income of Mr. X assuming

(i) He is resident and ordinary resident

(ii) He is resident but not ordinary resident

(iii) He is non-resident

502
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20,000

20,000

i 0,000

10,000

(8)

Standard Rent under Rent control act

Municipal valuation

Fair rent

Municipal taxes paid

Insurance premium paid

House I
(Rs.)

3,30,000

3,00,000

3,60,000

30,000

20,000

House II
(Rs.)

:,:0,L.,,

3,00,000

3,60,000

10,000

nil

Construction of both the houses was completed on
September, 2012. X had borrowed Rs. 25,00,000 @ 911
p.a. for construction of the house II (date of borrowing
1.6.20i1). Date of repayment of loan 30.6.2015.

( 10)

(b) Define agriculrure income. (5)
(

OR

(a) What are the provision for inclusion of income of a
minor child and wife of an assessee in his total income ?

(8)''

(b) Under what circumstances are gift of money received
by a person included in his income. (7)

(b) Explain the tax treatment of Gratuity received at the
time of retirement. e)

A*e x (ss 4s s{) 61 3l cr{ 2016 a1 scr< Es s.{ + *rT{
PeR ftftts + ftqRfr{d sn} crq E{,

(i) +d-{ so,ooo r. cfr qr6 d 
"i 

t 3,60,000 t.

(ii) q-A q{ qr+ + ftq sr+6T{r qrer froirn-f,

(rcT{ v-6rm ql qr€A-s- ra-qi rzooo a.) Tsooo r.

P.T.O.
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(iii) +cq rrir 3ooo r'. cfr qr6 fr vt i
(eq ' 36s6s a;

(iv) frfr-flT .i-flr (qc zo,ooo t)

(v) eS rrr sroTt q+rr + ftq
(ErRB-6 qq x ERr aooo t )

36000 r.

(u.) ftm +sr fut<u q{ zots-to + fts i{c+ B{rqrftq l-6l<

+ G-ff + faq ffqfrfrH # sq-a-*r qrnr l,
q

24000 t

(
t8000 a.

(

qqra tqea - ss t ister

qq-{r zOlo + +-T

]99t-92 + q6-& tfud 6,r ffivr mrqt

2oos-06 + X"t qA-" qr ffvr 6-cqi

ffiqt zoro { 1ct rom r<t-<t

s+qt zorz + tfu( ilq *<{ +tr{
{ vqt qns

5,50,000 \.

90,00,000 F.

3,00,000 \.

5,00,000 {.

6,00,000 \

2,00,000 E

(vi) fr+s x * ffit{d Ba urq aqr fi-isFro mRrd HR

S{ *'

(m) Ce{ i sg(kd *c ftrr+ fts ffi<r soooo{'.

qrk+' frnqr ? ra * r

(q) 1200 cc <rft qrsfr qn qr stntt x*rr, 5r5ot ffi-e
qfur( e+.T aqi qc+rt n-fu + fts r qn qr ir*q

frtq x * cRsT{ + s<d ara fr fr'qr ur r*-<r * r

(:r) ekrrt cR{t d FSffi *sr (ta-+ rzooo t) eftt

qq'r€ srdr (tc< reooo t) (

(v) ffimr $ ovo Qa1 q1 ftE6'E+JT (mffir *
aFlir 32ooo r. rqt-q fr artcs zoos - oa )

ffiq x * ftrft"r sS zorc-rz * frs, E{ u-tcm * mE

B. r<-+1 srq ddr- t srq aoooo r'. ?, ft+o srq *t 6't
qrfte qT fiF-+-m{ dfrq r

fr€{ rt{r qT ftuk"r s{ zore -u * fts E( +rq tdFrd
anr d qRr ql irfr+-ffi S&s r frfrc s{ * frs cu t{
s-6'R ? : 1 984-85 :125 ; 199 l -92:199; 2005-06: 497 *t 20 1 5-

l6:1081.

(r+) {+ro nM qr rc'fud ol+ ft Br}kd wttt v,ifua s{rc

q-t qqr{m* fr qnqr dfrq r

STgtZIt

ffiR'{d qt sfuR tqM frRq:

(o) iftna vR*fr

(r<') ftffrft
(.r) tIRr 80 cG + dilfd s-&e

(

tt

,I
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3 (a) Mr. Ramesh provides the following data for the sale of
his residential house for the assessment year 2015-16.

House purchased in i984-85

Sold in November 2016

Construction of the first floor in 1991-92

Construction of the second fioor in 2005-06.

Purchase another house in September 2016

Deposited in capital gain account scheme

in January 2017

Rs.5,50,000

Rs. 90,00,000

Rs. 3,00,C

Rs. 5,00,000

Rs. 6,00,000

Rs.2,00,000

Compute the amount of taxable capitai gain of 
_

Mr. Ramesh for the assessment year 2016-17. The CII
for the financial years are: 1984.-85:125; 1991-92:199: '
2005-06: 497 ard.2015-16:1081. (8)

(b) Explain the income tax provisions relating to set-off and

carry forward of capital losses. (7)

OR

Write short note on the following : (5x3=15)

(a) Capital asset

(b) As sess ee

(c) Deduction u/s 80 GG
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